2H: KSHR D
Zay: Aol AHES KB (A

i
s
b
°
N
2
o
>
Q

oy
02 12
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Sl AN BIASA Y 23t (@2
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
AMEE D 21,596,710 11,552,544 10,044, 166
= 4,998,530
=z 1,438,015
[~ 1,496,099
Al 13,664,066
ARl BHES XRA(MY - ZEAIY/MARE - DT 4,882,602 2,994,027 1,888,575
3t)
=2 900,000
< 80,000
Al 3,902,602
ZSAMQ BHSA L B A 1,190,495 1,242,243 A51,748
[= 80,000
Al 1,110,495
AN ES 4 56,326 44,490 11,836
101 Q1 Ad] 16, 161 16,397 A 236
04 JIZNZ22UHEES 16, 161 16,397 A 236
= 0fl At 16, 161 16,397 A 236
OSJ2ULEH 22 =4l 24 16, 161
-J=3 66,8002 x4 x5 x 1204 & 16,032
—AEE 16,032,000 *0. 8% 129
201 LBt AH| 11,065 11,593 A528
01 Ab2t2lHl 9,145 9,793 2648
=2 0f| At 9,145 9,793 A 648
OS2It 282 MZE 3502 +1,00001 23] 700
OAHIXNEMAO QRS EHAMSE
100, 0009 x7H %23 %0.7 980
O=HANRESIAMUNBOlG EFapd
100,000 x7H *13] 0.7 490
OAHIXNES L SIHATAIM =7 E23
Al Y] 8,000 2% 72 « 122 1,344
ORBIIIEAL QMEIE X (MY 25
) 13,8002 340 A «12& 5,631
02 22=29H| 1,920 1,800 120
=0l A 1,920 1,800 120
OAEINEE AT A) SAF 208 MIIB
45,0002 x20 A x 122 1,080
OE A AXIXSEES Y HHE CTV &I
2 40,0002 * 100 A *122 480
ORT A gez oCTV Y 22
30,0002 x 10 A+12% 360
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202 048l 3,600 0 3,600
01 3ol 3,600 0 3,600
20 3,600 0 3,600

OgNae 25 g2 F& 0
60,000 x62 102l 3,600

203 HR=&| 1,500 1,500 0
03 AMHEF=THR=IH| 1,500 1,500 0
= 0l & 1,500 1,500 0

OgHMae BEasd & 42450 243
gRFd 1,500, 0003 =14 1,500

301 EtEAas 12,000 0 12,000
12 JIEtEA 3 12,000 0 12,000
= 0l &t 12,000 0 12,000

O=dUREs =HEY
200,000 x5 12 12,000

307 2z2tolA 12,000 15,000 23,000
02 QIZtBAAHBEX 12,000 15,000 23,000
= 0l & 12,000 15,000 A3,000

OaxHIXNES & FASTAMY
12,000,000& * 14| 12,000
a3l N 740,000 870,000 A 130,000

306 =23 150,000 150,000 0
01 &d3 150,000 150,000 0
= 0l &t 150,000 150,000 0

O243Y X ABSSEM 2943
150,000,000& 14! 150,000

307 2z2tolA 450,000 720,000 A 270,000
08 OIXMENS 450,000 720,000 A270,000
= 0l & 450,000 720,000 A 270,000

Oaxd32 0k K&
30,000, 000& x50090 & Xl *3% 450,000

402  2I2tXr=01 A 140,000 0 140,000
01 QU2 AL 2 (XM TH ) 140,000 0 140,000
= 0l &t 140,000 0 140,000

OdTHS AL 140,000, 000& 14! 140,000
adgds 99, 169 81,349 17,820

201 et dll 34,169 36,349 A2,180

01 At 22ldl 34,169 36,349 N2,180
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= 0l & 34,169 36,349 A2,180
QAL 28 29 484 83 7Y
13,168, 0603 * 14 13,169
oot 24 21,000
— ) M A 10,000& »800= 8,000
— A=Y 300,000 x182Z *2J4 & 10,800
-2 P S 2,200,000 =14 2,200
307  gIztol A 45,000 45,000 0
04 OQIZ2LSHALAIH E X 45,000 45,000 0
= 0l & 45,000 45,000 0
O&AE DHAHEY A 15,000,000 x304 &F H 45,000
401 A&BIZ =208 20,000 0 20,000
01 Al&HI 20,000 0 20,000
= 0ff & 20,000 0 20,000
O JARUS A8 ADJF oty 2+&
A X 20,000, 0003 17 &~ 20,000
THANSNEA LW 2HF 135,000 203,404 A 68,404
201  EtI| 135,000 140,000 A5,000
01 At 2eltl 135,000 140,000 A5,000
= 0l & 135,000 140,000 A5,000
O=dAMNHLSH 4 2 125,000
—E2=, JI%UE AEIH ME S
4,000 x5, 0000H 20,000
— HO, Y =2
3,000,000,000& *1.5% 45,000
— EolEi 29| 3,000,000, 000 *2% 60,000
OZHtg &3 e, By, &8 =2
400,000,000& *2. 5% 10,000
A A2otatd 2 sHOte 160,000 0 160,000
=~ 80,000
Al 80,000
307  glztol A 160,000 0 160,000
= 80,000
Al 80,000
02 QUAHABLASEX 160,000 0 160,000
= 80,000
Al 80,000
= 0l &F 160,000 0 160,000
& 80,000
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Al 80,000
02019 Ay X2starel B BOIY BA
160,000, 000 * 14 160,000
= 80,000
Al 80,000
dSAE & 4FI 243 3,692,107 1,751,784 1,940,323
= 900, 000
Al 2,792,107
HEANE sX 2 1,201,073 869,576 331,497
101 elA4l 132,447 123,603 8,844
04 JIZHMZEXRSES 132,447 123,603 8,844
= Ofl &F 132,447 123,603 8,844
OREAZ HIIS T2l L 8= Il
M 22X el 132,447
—Jl=s 66,8003 x9H x21 L «BIH & 101,002
—Fsg 66,8003 x9H 32 19,239
— =00z 120,240,000& *4.5% 5,411
—A22E 120,240,000& *3. 12% 3,752
—1E2E 120,240,000& *1.5% 1,804
—MTHEE 120,240,000& *0. 8% 962
—EIRYEH 3,751,4883& x7.38% 277
201  LEL2H 193,459 182,793 10,666
01 AFR2Zeldl 77,056 76,974 82
= Ofl &F 77,056 76,974 82
ORSAZ B&3 ALET S20HAY)
8,000 x4H 10 «12& 3,840
OSH OUF-TABE A+E M
100& *40,00000 x 15 4,000
O, OtzHE 43501 2 24,0003 «504 1,200
OSH 01HY &E4 NEX 7Y
24,000 x204 A %12 576
OHEANT HY)| BRY QY2 242
150, 000& »20H & 300
ONBHAUBNRN ZZH 2£72Y
1,000, 000& « 1204 & 12,000
O, %= HII2 +HBI 7|
70,0003 =104 700
O, %= sxze +2088 7Y
200,000 #2002 x128 4,800
OREAZ 018 82 2 AN HE 222
N[ESy 2503 +3,00001 x23 1,500

- 134 -




M XS ZH 2

H: AQo FHES N (LY - SAINY/AMEEE - DL
el dSANE & 48 2435 (=&
. 0l &k 2 U = 0 ~
SA-HB - BAEH)  NRAY - BES =z T HRE 2
OdSAE st&4 & 7Y
50,0002 *5IH *3IH A+ 128 9,000
OdXAIY BXI0HY XHE Y|
1,000,000& *2H 2 *23 4,000
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OO0t & F=XER s 2e]
143,000 «12& 1,716
02 32224l 116,403 105,819 10,584
= 0l & 116,403 105,819 10,584
OE, 0t Agotd 3/t
50,0003 #2422 *13] 100
OST,01AF AZBZUL AHYWRS
30,000 60 A x12& 2,160
OANE2I2E HMIAEZ(7THD) 51,144
— ot 2,800,000& «12& 33,600
-z 1,200,000& «12& 14,400
—GAANE =XE 10,000 204 2 +12& 240
—SZAE 2 30 60,5003 400 A~ +128 2,904
ONE2ZHE Mot AMES(THA) 37,200
— Ot & 1,600,000 «12& 19,200
- 2% 1,000,000 «12& 12,000
— SEANE =XE 10,0003 24 A +12E 240
- A 34 A
120,000 404 2 +12& 5,760
OSIMERSS(RFE,01HEH2 40HA)
350,000& *6H 2 23] 4,200
OULERLILI(RE,0AH) 4,199
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60,0008 *3% x263] 4,680
203 YREIH| 3,000 3,000 0
03 AMBFYREIY| 3,000 3,000 0
=0 4 3,000 3,000 0
OFSANE o A4 243 =8 2@
2N 3,000,000 *144 3,000
207 TN 82,000 0 82,000
01 etmE 82,000 0 82,000
= 0f & 82,000 0 82,000
O8t= 21O OFAIE ZH0 02 B4
E A 50,000,000 * 14} 50,000
OSTOIUZMSHIIS +TSBHHI2 I}
oy o 12,000, 0002 *1 44 12,000
OBFAY 243 2ot 178
20,000,000 * 14} 20,000
301 st 4,647 4,000 647
09 BAAHIZAZ 4,647 4,000 647
=0 4 4,647 4,000 647
OSAAH statsl &0t 4,647
—2AARR 1,323,000% %274 2,646
—SACIRO 40 1,000, 5002 %274 2,001
307 I2H0IH 430,840 429,040 1,800
02 BI2HFMAYRE 36,840 35,040 1,800
=0 4 36.840 35,040 1,800
OAIZOHLI K A 22,200,000 * 14} 22,200
OFSAE B2 L HEMHlAMY
14,640,000 *144 14,640
05 Bl2teierz 394,000 394,000 0
=0 & 394,000 394,000 0
OXNGAF ALH HIIE X2l +42
394,000,00021 14! 394,000
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307 QIz2tol & 110,000 115,000 A5,000
02 QIZHAAMAIREE =X 105,000 115,000 A 10,000
= 0l & 105,000 115,000 A 10,000
O=dZE ZE=A 15,000, 000& *14] 15,000
OO0t & OlIAE 2¢ 90,000, 000& 14! 90,000
04 DIZISHALAIRE 2 X 5,000 0 5,000
= 0l & 5,000 0 5,000
OY ™AL SOtsSUEM 5,000,000& x 14 5,000
401 AlEHIZ201H] 14,000 0 14,000
01 Al&HI| 14,000 0 14,000
= 0l & 14,000 0 14,000
OYTAE SAH32 24 14,000,000 *14] 14,000
KXot aited 367,034 334,208 32,826
101 o121y 59,041 94,421 A 34,480
04 JIZtHZZXNSE > 59,941 94,421 N 34,480
= 0l & 59,941 94,421 AN 34,480
OMNUW=Z JI2tHl D=8 21AH]| 23,442
EAR==1 85,800 x1H x212 +x8IH & 14,415
—F5g 85,800& x 1 %32 2,746
— =20d3 21,278,400& *4 . 5% 958
-5 85,800& x1H x1.5%x32 4,119
— AL E2E 21,278,400 *3.12% 664
- 11888 21,278,400& *1.5% 320
— &) AYEE 663,887 & *7.38% 49
—NMHEE 21,278,400& *0.8% 171
OMUWE JI2tH 22X HH (222 &H|,H
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OXMINAIRA2IY| 270,000& x12& 3,240
OoEotgdylgdsra 700,000 x12& 8,400
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OIS A== 760,000& *13| 760
Ox2dt3UEB 2 808,000& 13| 808
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OSaldl 300,000& 128 3,600
OAWBIEE=LS 700,000 *13] 700
O8I EHA 1,000, 000& *13] 1,000
OZ0He XM 2lZE A2
300,000& x12& 3,600
OANEZERX =L 5,025,000& *13] 5,025
OXBtE A gt A= 500,000& x123] 6,000
401 AEBIZL LY 150,000 80,000 70,000
01 Al 150,000 80,000 70,000
= 0ff & 150,000 80,000 70,000
OZHEA(H2AE)AME Al
120,000, 000& * 1Al 120,000
OLZANE A & KA
30,000,000 =14 30,000
SUAYEENE NANEE ALY 500,000 0 500,000
308 XXEHHMSOIA 500,000 0 500,000
10 SI2SHUSZEAHRAE AIS B 500,000 0 500,000
= 0ff & 500,000 0 500,000
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500,000,000& » 14! 500,000
HEANT NS NAAN(HEANT STHOHH 1,500,000 0 1,500,000
HH| ALY)
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Al 600,000
401  AIEHIZL20iH] 1,500,000 0 1,500,000
= 900,000
Al 600,000
01 Al&HI| 1,500,000 0 1,500,000
= 900,000
Al 600,000
= 0ff & 1,500, 000 0 1,500,000
= 900, 000
Al 600,000
OFESAE AIEs Uz XN& At
1,500,000, 000 =14 1,500,000
= 900,000
Al 600,000
Bt At S MG sE YL/ s - s8) 1,353,447 144,825 1,208,622
Fag 1,230,000
== 10,000
Al 113,447
B MY =Y 1,353,447 144,825 1,208,622
Fag 1,230,000
== 10,000
Al 113,447
BtH 23t &4t L olZet 2 1,920 3,720 A 1,800
202 04| 1,920 3,720 A 1,800
01 =2UWAH 1,920 3,720 A 1,800
= 0l & 1,920 3,720 A 1,800
BRMY BHS 9B MK A
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OteisAlE2 28 HoIL &4
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= 0l & 28,343 28,800 N457
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— 22 WM Mz 1,000, 000& *23] 2,000
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—=2= ME 500,000& 23| 1,000
— s 2sd M 10,0003 *100F * 13| 1,000
—&sA B8 I 1,000, 000& * 14! 1,000
— s 229 A2F 7 1,000,000 x14] 1,000
03 AI2HH| 12,000 0 12,000
= 0l & 12,000 0 12,000
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12,000, 000& 14! 12,000
206 M Z&Hl 334 1,000 N\ 666
01 MZH| 334 1,000 N\ 666
= 0l & 334 1,000 N\ 666
OBt S22 KRS ] 29 M4
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301 ot A= 850 4,000 A 3,150
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Btels=2 S3tdlEe =4 1,200,000 0 1,200,000
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01 Al&H] 1,200,000 0 1,200,000
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= 0ff & 1,200,000 0] 1,200,000
Fag 1,200,000
O=d&Al BtHdsE 2y =4
1,200,000, 000 =14 1,200,000
Fag 1,200,000
BtHAIZE US| ALY 10,000 10,000 0
== 10,000
201 282 A Y| 10,000 10,000 0
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= 10,000
= 0f &t 10,000 10,000 0
= 10,000
OPIAAI2 DFSD| AP 10,000,0008 *14] 10,000
= 10,000
HHE2 =06 =4 100,000 0 100,000
z 30,000
Al 70,000
401  AlEHlL Lo 100,000 0 100,000
B 30,000
Al 70,000
01 Al&H] 100,000 0 100,000
z 30,000
Al 70,000
=0 o 100,000 0 100,000
B 30,000
Al 70,000
OHIAES S0AM =4
100,000, 000! * 14! 100,000
= 30,000
Al 70,000
HOAQ SH(MY - EAIA/MAVE - D5 1,000,000 1,000,000 0
EEHASOGATHHL S AR 1,000,000 1,000,000 0
SHHOISOIUAT KL X 1,000,000 1,000,000 0
306 =02 1,000,000 1,000,000 0
01 s0i2 1,000,000 1,000,000 0
= 0f &t 1,000,000 1,000,000 0
OcHHASYBATINL HARHE X2
1,000,000,0008! *14] 1,000,000
Gl B2 #F FA(MY - BAIY/MARNE - D 150,000 195,000 A 45,000
c3)
HoMGss U MEtEe X8 150,000 195,000 A 45,000
MYUPENCEE SIE MotEAXA 150,000 195,000 A 45,000
306 =02 150,000 195,000 A 45,000
01 s0i2 150,000 195,000 A 45,000
=0 o 150,000 195,000 A 45,000
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o) 50,000, 0002 * 14! 50,000
CAGHUIRER (ABZX /e S) 8,718,808 2,788, 150 5,930,658
2 2,726,000
2 208,015
= 1,265,254
Al 4,519,539
CAE BE 28 24 219,466 234,065 A14,599
2 40,000
Al 179,466
MYBSES L MM Z0H 129,466 144,065 ~14,599
201 Ystegl 20,346 20, 161 185
01 At el 10,758 11,445 ~687
= 0] & 10,758 11,445 ~687
OLAOHE o pIfiFel S20H4
8,0009! 32§ +32 # 12 864
OLAFARNS BH2g
100, 00021 * 123 23| %60/ 100 1,440
O22=TSSME A8 242 L £
2| 4,313
—AYEY 42 800,0002 13l 800
—AYAE S2ll 3,513,00021 *13] 3,513
OMBSI Y BAXH 20,0008 %5004 £ 1,000
OLSAT2SE 918,000 %22 £ 1,836
O22=NSHHME G22I+
2 108, 7502 *122 1,305
02 ZZ2g| 9,568 8,716 872
=0 4t 9,588 8,716 872
O22=XSSHME HIIABE
565,6302 * 122 6,788
O22=TMEH A244 SN
700,0002! 43| 2,800
202 Ol 4,320 4,140 180
01 2UHoidl 4,320 4,140 80
= 0 4t 4,320 4,140 180
OLANSH ARFT 22l ot
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203 YR=FY 2,000 2,000 0
03 AZHARETY 2,000 2,000 0
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2,000,0002 *14! 2,000
301 YsEaz 7,800 9,360 A 1,560
09 SAAHZAZ 7,800 9,360 A 1,560
=0 o 7,800 9,360 A 1,560
ORY22RX 522 (LEX 28
60,0002 *65% +22 7,800
307 212+0| 95,000 95,000 0
02 UABAAASE 95,000 95,000 0
=0 ot 95,000 95,000 0
OMAEE L ARIN S0SH K3
25,000,000 *13| 25,000
OL-sSags 29 30,000,0002 %20 A 60,000
OLARIE SEAMOILF 10,000,000 *13] 10,000
X L ARIE e 2 90,000 90,000 0
= 40,000
Al 50,000
307 212+0| 90,000 90,000 0
= 40,000
Al 50,000
02 UABAAASE 90,000 90,000 0
= 40,000
Al 50,000
=0 ot 90,000 90,000 0
= 40,000
Al 50,000
OXd CAUE et 2MH3AY
90,000,000 *14! 90,000
= 40,000
Al 50,000
Al o4 f 2,286,030 1,729,306 556,724
= 208,015
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Al 1,300,000
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= 38,968
Al 1,266,460
= 0l & 1,305,428 922,400 383,028
& 38,968
Al 1,266,460
O3SZZ AL FE 2124H|
1,305,428,000& *14] 1,305,428
= 38,968
Al 1,266,460
201  LEtE 11,400 10,000 1,400
& 340
Al 11,060
01 At 2eltl 11,400 10,000 1,400
= 340
Al 11,060
=0l & 11,400 10,000 1,400
& 340
Al 11,060
OMNEES 23 #2 11,400, 0003 *14] 11,400
& 340
Al 11,060
202 O dl 4,000 4,000 0
& 120
Al 3,880
01 WA 4,000 4,000 0
== 120
Al 3,880
= 0ff & 4,000 4,000 0
& 120
Al 3,880
OSSZ=MIFE JL8 2L
20,0003 x5 x40 4,000
& 120
Al 3,880
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SN

X XH -
S =

PRS- DS
CAMHEIYI2ZE(MEEN/S)

EHo: AQITh CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
206 M= Hl 19,172 16,600 2,572
= 572
Al 18,600
01 M=l 19,172 16,600 2,572
= 572
Al 18,600
=0 4 19,172 16,600 2,572
= 572
Al 18,600
OSB3 AMYFA HGEF L I
19,172,000 *14] 19,172
& 572
Al 18,600
NSAANL HNISSHALS 120,000 0 120,000
301 LErEAZF 120,000 0 120,000
01 AEZ" 03 120,000 0 120,000
= 0l & 120,000 0 120,000
OMNAET Hgsd NFAAZ
120,000, 000& * 1A 120,000
NEBSSH LRel A 416,030 440,306 N24,276
s 208,015
= 41,422
Al 166,593
101 elAd4| 385,658 408,177 AN22,519
= 192,829
= 38,398
Al 154,431
04 JIZtHZZ2NSE=S 385,658 408,177 A22,519
= 192,829
= 38,398
Al 154,431
= Ol &F 385,658 408,177 AN22,519
s 192,829
= 38,398
Al 154,431
OXNGBSH LXtel A ol
385,658,000 14! 385,658
Fax 192,829
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SN

X ZH
S =

Xl <3 H
AR I ZET (MBI 2R/ eS)

Erol: Al oy CER-E
SH-EH. O (AN) - NRANY - B o) ) HDE2
= 38,398
Al 154,431
201 eI 15,056 16,000 A 944
Fas 7,528
= 1,498
Al 6,030
01 At 2teltl 15,056 16,000 AN944
s 7,528
= 1,498
Al 6,030
= 0l & 15,056 16,000 A 944
= 7,528
& 1,498
Al 6,030
OMNEES 23 #2 15,056, 0003 *14] 15,056
= 7,528
= 1,498
Al 6,030
202 44| 4,000 4,000 0
= 2,000
400
Al 1,600
01 =AYl 4,000 4,000 0
s 2,000
= 400
Al 1,600
= 0l & 4,000 4,000 0
= 2,000
& 400
Al 1,600
OXNGEZsHASFA R 2L YI
20,0003 x5 x40 4,000
= 2,000
=~ 400
Al 1,600
206 M=l 11,316 12,129 A813
Fax 5,658
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CYSE
AR I ZET (MBI 2R/ eS)

X ZH
S =

PRS- DS

EHo: AQITh CERT
SH-EH. O (AN) - NRANY - B o) ) HDE2
206 M= Hl = 1,126
Al 4,532
01 M=zl 11,316 12,129 A813
= 5,658
= 1,126
Al 4,532
= 0l &F 11,316 12,129 A 813
s 5,658
= 1,126
Al 4,532
ONEZsHMEFE HIEF L AP
2 11,316, 0003 *14] 11,316
Fax 5,658
= 1,126
Al 4,532
20| 2T HEERZ ALY 410,000 336,000 74,000
= 205,000
Al 205,000
307  glztol A 410,000 336,000 74,000
= 205,000
Al 205,000
02 QUAHBMASEX 410,000 336,000 74,000
= 205,000
Al 205,000
= 0l & 410,000 336,000 74,000
= 205,000
Al 205,000
Os2JIY 285 ZHEXS
410,000,000 14! 410,000
= 205,000
Al 205,000
2dxtel &= 6,213,312 824,779 5,388,533
= 2,686,000
= 978,832
Al 2,548,480
Nasd gtsd dield3EsE N3 1,200,000 0 1,200,000
= 1,000,000
Al 200,000
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SN

PRS- DS

B CANOHY22EX (M= /= E)
col: Ynel HE CER-T
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
307 QIz2tol & 1,200,000 0 1,200,000
= 1,000, 000
Al 200,000
02 CIZtEAMAIEE =X 1,200,000 0 1,200,000
= 1,000,000
Al 200,000
= 0l & 1,200,000 0 1,200,000
= 1,000,000
Al 200,000
OXNYAS bz X2l &HE ANI ALY
1,200,000,000& =14 1,200,000
= 1,000,000
Al 200,000
A X2l EEAIY =X 656,688 810,939 N 154,251
101 jSlals] 458,043 353,731 104,312
04 JIZtHZ2ZXNSE S 458,043 353,731 104,312
= 0l & 458,043 353,731 104,312
OHsr=g M HHOIH 386,299
EAR==1 66,8003 *30H x21 74 & 294,588
—F53g 66,800& *30H x28 56,112
— =20d3 350,700,000& *4.5% 15,782
—2AUEE 350,700,000& *3.12% 10,942
- 1188E 350,700,000& *1.5% 5,261
—MHEE 350,700,000 *0.8% 2,806
— &) AYEE 10,941,840 x7.38% 808
Oustd AEME A= 71,744
EAR=] 8,350& x5A| 2t*30H #2222 %23 55,110
—F534 8,350& *5A] 2t *30H x4 %23 10,020
— =203 65, 130,000& *4.5% 2,931
— AL EE 65,130,000 *3. 12% 2,033
—1NE8E 65,130,000& *1.5% 977
—AMEE 65, 130,000& *0.8% 522
— &)Y E 2,033,000& *7.38% 151
201 282 A Y| 183,485 201,028 AN 17,543
01 Ar®2telt] 69,265 90,708 N21,443
= Ol & 69,265 90,708 N 21,443
O«Lxelzzs 282 ¢ N HE
2502 x4, 00000 x23] 2,000
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B EED
B CAGEHATRZR(AMEZR/S)
crel: axel &S (sl &2
z s . Of Ak o8 i &0 Ao -
SH-FHY .S (3) - HRAY - BE= iz (513 01) CmE=FT
O 2258 A S2HA
8,000 «2H 6 122 1,152
OS4381 sgNe 220y 29
500, 000& x5H 23| 5,000
OFEYUTI 2 HEAY 5,700
— 29l 500, 000& *3H & 1,500
— 22| 400, 000& *30H A 1,200
—IME 1,000,000 «304 & 3,000
OFEZD =X (BM)YNE
43,000,000 14! 43,000
OHZZT 9 22UYSHEH 2L 92
=& SZ20HAHI 8,000 «6H 4 x 128 1,920
O=2=z2ddELH 24 1,557,000& * 14! 1,657
OX=sd 28 N& 5,000,000 14| 5,000
OF&&] 2o & 200,000& =123l 2,400
OF&EHEL 29 1,536
— Mgl S5 7Y 10,600& x50 123 636
—SFA MEA 2SI 7Y
75,000 100 A+ 128 900
02 22292l 49,220 46,320 2,900
= 0fl & 49,220 46,320 2,900
OF&&EL 22 46,320
— 38 AU duy 1,000,000 «12& 12,000
— &5t 23 300,000& =128 3,600
—Stes 100,000& =122 1,200
— &3 Fa 300,000 *23] 600
- IRB(AW, YR, ZHS XY S)
2,070,000 «12& 24,840
— A&7 2tel 300,000& =122 3,600
— Y AEZ 40,000 <123 480
O==2ddEHdH 2 2,900,000& =14 2,900
03 A2 65,000 64,000 1,000
= Ofl & 65,000 64,000 1,000
OBEZD BE =X HE0l 0IXCH BA
N = 10,000
—x&Y, 222 A 1,000,000& * 14! 1,000
— A, ZHl gz 3,000,000 =14 3,000
— Az ¥ BA 6,000,000 14| 6,000
OBEZD HAZY U 2HIY HARY
5,000,000 =107 & 50,000
OFF&D JELN /328 =& 5,000
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SM: NAZHD
B CAGHURR=X(AMB=T/EE)
chel: YRl BB CERE
- - o Ofl &K & T 0l AF A =
SN ZH - (3H) - HRAY - BE2 (Z= o) (713 o) Hns2
N EEERE 1,000,0002 *14] 1,000
- 2NE U BoR 3,000,000 * 14! 3,000
— B, MI, NI S HE
1,000,0002 *14] 1,000
202 OfHl 3,600 2,880 720
01 =0l 3,600 2,880 720
=0l A 3,600 2,880 720
OUTEIBE AL 7 ofHl
60,0002 ¥32 *203] 3,600
203 YRETY 2,000 2,000 0
03 AHEFYLEZY| 2,000 2,000 0
=0l 4 2,000 2,000 0
OUMBABEAY XY ALEFY)
2,000,000%! * 12! 2,000
301 LsBA3 9,560 1,300 A1,740
09 BAAHIEAS 9,560 11,300 A1,740
=0 9,560 11,300 A1,740
OFma 223 FHT 24
7,000 %202 *143] 1,960
ONSAMEIZE 9IS L W0 B
N 70,0002 *10% *42 +23] 5,600
OBUSS(SA)E =4 400, 0008 +5% 2,000
ARl NAME 29 12,960 13,840 880
201 sty 12,960 13,840 880
01 At 2r2lt| 12,960 13,840 880
=0l a 12,960 13,840 880
OYUT2IME 2l 250,0002! 122 3,000
OxgnTey 9,000
= 1,000, 0002 %28 x22! 23] 8,000
LV E 250,000 2% 23] 1,000
OHEIR2T 0F2Z A Y]
8,0008 29 x5 122 960
NeFce HEAT 2l AY 1,900,000 0 1,900,000
= 1,200,000
Al 700,000
307 OI2H0lH 1,900,000 0 1,900,000
= 1,200,000
Al 700,000
02 BIATMMERE 1,900,000 0 1,900,000
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SN

PRS- DS

FH: CANFAI2EST(AMEEX/=S)
chels 2 Xl HE (o2&
] _ o 0 & o & & 0 A o -
SA - B (SH) - HRAY - BAES = T HRE2
02 BIZBAAMIEX = 1,200,000
Al 700,000
= 0fl &F 1,900,000 1,900,000
= 1,200,000
Al 700,000
OXNg=cd Eg el At
1,900,000, 000& * 14 1,900,000
= 1,200,000
Al 700,000
Nasd LdhelEHEAY 1,100,000 1,100,000
3 550,000
Al 550,000
307  glztol A 1,100,000 1,100,000
= 550,000
Al 550,000
02 SIZBAAMNIEER 1,100,000 1,100,000
= 550,000
Al 550,000
= Off & 1,100,000 1,100,000
= 550,000
Al 550,000
OXNgSsd LRl EHEALY
1,000,000, 000 14! 1,000,000
< 500,000
Al 500,000
Oodg #4E dXeldtH 299
100,000, 000& * 14! 100, 000
= 50,000
Al 50,000
dg E4 Ot22 2Aelad 1,343,664 1,343,664
= 486,000
= 428,832
Al 428,832
307  gIztol A 1,343,664 1,343,664
486,000
= 428,832
Al 428,832
02 SIUBAAMIEX 1,343,664 1,343,664
= 486,000

- 151 -




=L

pA[ply

BH: L AGEUAR2=X (MESK/S)

el dXtel

3=

o)
4
[pal
{0

x - . 0 & o H = ol -
SH - BA(BH) - NRAY - BES =t i BlRE2
02 BIZBAAMIEX < 428,832
Al 428,832
= 0fl &F 1,343,664 0 1,343,664
= 486,000
= 428,832
Al 428,832
Odd Y iS22 £XelAte
1,343,664,000% 14 1,343,664
= 486,000
& 428,832
Al 428,832
HUX olzZet &5 2 s (&g -S40/ /0U4X 5,305,327 4,244,430 1,060,897
EDNED) k=19
= 1,372,530
& 140,845
Al 3,791,952
Ol X &t olZet = 5,305,327 4,244,430 1,060,897
= 1,372,530
& 140,845
Al 3,791,952
HUXIZe 2 RSEN 28 2,043,470 1,941,190 102,280
201 B2 74,670 20,766 53,904
01 AtR2Zeltl 54,670 20,766 33,904
= 0fl & 54,670 20,766 33,904
O8RS NEYE K7 AMSMF A=l
1,400 *5000 & +52| & x2F *23| 1,400
OUX HE 282 (8% S) ME
2,368,000 x 14! 2,368
OABTEN sA40UHX nEsEs2XZ20H
=23 2,000,000& »33| 6,000
ONUXZ0F =CH S2AMYE 22Xz M
& 3,000,000& =14 3,000
ooldx &t & 2LHY 29
2,000,000& » 14! 2,000
ONuUXNI3 <« &
100,000 »9H »23| 1,800
OUUX(JtA, RF S) 02t AIEHH S
2= 4l 8,000 x4H x33] 128 1,152
OF8 SAINASS doRAS &Y
100,000 69X x33| 1,800
ONUX =osge 2¢
5,000,000& =14 5,000
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SN
X ZH -
L=

el

PRS- DS
X et &5 Y
OIHR &t elzZet 2=

S23H (&Y - SAINY/0 XL XRAH L)

o)
{0
]
{0

Oll &F o

& 1 = 0f 4 o

AeZ3E - H2A(ZH) - MRAY - BES (Z= o) (713 o) HnsZ
O®EIIAE DBAIAE RHF ALY
30,150,000& =14l 30,150
03 A2 20,000 0 20,000
= 0l &t 20,000 0 20,000
ORIl & &A=& 20,000,000 *14 20,000
202 o4l 4,800 5,520 AT20
01 =Wl 4,800 5,520 AT20
= 0l &t 4,800 5,520 AT20
ONUX BR=X 22 0H|
60,0003 *4H 203 4,800
203 EER=&H| 1,500 1,500 0
03 A=A HI=FAH| 1,500 1,500 0
= 0l & 1,500 1,500 0
OUUX 2 { RSEAN &8 28 2
=&l 1,500,000 * 141 1,500
402 It Xr=01 ™ 1,962,500 1,900,000 62,500
01 QU2 AL 2 (XM IH ) 1,962,500 1,900,000 62,500
= 0l & 1,962,500 1,900,000 62,500
OF8 TANIIAZSES BEXAY
1,000,000, 000 * 14! 1,000,000
O=&dg X XEltS Z8AY
200,000,000& =201 Ot 2 400,000
OZd2Y UX=XAES 28t ATHA4
UX ZXAS 62,500,000 * 14! 62,500
OZsF8E NUXNNE NS ZEAY
500,000,000& * 14| 500,000
AT 0K 22 =0 436,752 49,500 387,252
101 QIAH] 18,252 0 18,252
04 JIZMZ2XRSES 18,252 0 18,252
= 0l &t 18,252 0 18,252
OMMHMHUHX s 82 Maga 24 |
ZHH22 X el | 18,252
-JIEs 66,8003 x1H 21«84 & 11,223
= 66,8003 »1H %322 2,138
—5d=g 100,200& 12 #32& 3,207
— =0z 16,567, 1043 x4 .5% 746
—Ad2EE 16,567, 1043 %3.12% 517
—1EEE 16,567, 1043 x1.5% 249
—&MHEE 16,567, 104& +0.8% 133
—AINRLEE 516,894& 7.38% 39
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2A: NSZ M
FH: UK Qe &#FE L SSSH(MY - SAINL /UKL RA0LE)
Ehelr O X &Y elZet = (o2&
x - . Of &t o8 ool oo -
SA BB S (BH) - NEAMY - BES (ZE o) (1= o) HRE2
[= =] [= ]
201 eI 418,500 49,500 369,000
01 AtR2Zeltl 15,500 49,500 A 34,000
= Off & 15,500 49,500 A 34,000
Q& - THMUH UK E= 2d Mg M
50,000& 1505 7,500
ONURX Xt =48 ug g8 29
500,000& 43| 2,000
OUUXXNEZAl *&ES st ZH(AEI
AS)MH=E =2F 2,000,000 » 14! 2,000
OUNUXITHEEA St - EE2S M
250& *2,0000H 23| 1,000
OWUXIZ0F 2AchHZA =& L EES| M
Es| 1,000, 000& x2H 2,000
ONuUX JIZzHEs AREEIH A2
250,000 x4 H 1,000
02 =294l 403,000 0 403,000
= Off & 403,000 0 403,000
ONUXEM dsts & NLHRE 23
NXH 23 3,000,000 =14 3,000
020178 O X &g QIZEEX} & &3
400,000,000 =14 400,000
N2IE JtAANAE WA (MAS JtAAAE KI2AR) 144,600 144,600 0
= 115,680
Al 28,920
403 XXESHHSKH20IH 144,600 144,600 0
= 115,680
Al 28,920
02 SISO S X2E < E A HI 144,600 144,600 0
= 115,680
Al 28,920
= Off & 144,600 144,600 0
= 115,680
Al 28,920
OMNBIE JIAANE XA
144,600,000 14 144,600
= 115,680
Al 28,920
AMIHMHUHX 22 FEHXA ALY 798,725 434,000 364,725
= 117,250
= 136,345
Al 545,130




SN

X XH -
S =

Xl

X et &5 Y
OIHR &t elzZet 2=

S 2 M

- EAIY/MEX LR E)

e (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
402 QI2tXHE01H™ 798,725 434,000 364,725
= 117,250
== 136,345
Al 545,130
02 QIAXZ2AMAEX(0IEWL) 798,725 434,000 364,725
= 117,250
= 136,345
Al 545,130
= 0ff A 798,725 434,000 364,725
= 117,250
== 136,345
Al 545,130
OBSZe AHHSBLA WAL
564,725,000 1Al 564,725
= 117,250
== 112,945
Al 334,530
OAMTHMAHHXIES FTEXSAY
234,000,000& * 14! 234,000
== 23,400
Al 210,600
MBIE JIAAE HE(HMBIES JFAHE & X (EHOI O 15,000 15,000 0
2) EZ2AY
== 4,500
Al 10,500
403 XXSHHSK20IH 15,000 15,000 0
== 4,500
Al 10,500
02 Z2J/2S0H s X=2E<E A HI 15,000 15,000 0
== 4,500
Al 10,500
= 0l & 15,000 15,000 0
== 4,500
Al 10,500
ONMBIZE JIAHEZX(EIOIN2) ES ALY
15,000,000& * 14! 15,000
== 4,500
Al 10,500
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SN

X XH -
S =

PRS- DS
X et &5 Y
A olmet RE

S23H (&Y - SAINY/0 XL XRAH L)

el ol X (e &
SH-EH. O (AN) - NRANY - B o) ) HDE2
FAHE HHXSX(HUE X SXIA) 656,580 658,000 A 1,420
= 459,600
Al 196,980
401 AI&BIZ =208 656,580 658,000 21,420
= 459,600
Al 196,980
01 Al&HI 656,580 658,000 A 1,420
= 459,600
Al 196,980
= 0l & 656,580 658,000 A1,420
= 459,600
Al 196,980
OFANE MHSE2s MASSE NIAAL
328,290 *2,0000t 7 656,580
= 459,600
Al 196,980
SEXNSY JIAAME HEALY 80,000 80,000 0
403 X XEHHSTH201H 80,000 80,000 0
02 ZBI2SOICHS A2 X S| E AL HI 80,000 80,000 0
= 0l & 80,000 80,000 0
OsZEXNYG JtAANE HEALS
80,000,000 *14] 80,000
=& ECOE AL 2 Y 9,000 0 9,000
201 LBt 4| 9,000 0 9,000
01 At 2eltl 6,000 0 6,000
= 0l &F 6,000 0 6,000
OdEJ|etd2e| tHels=+2 500,000 <128 6,000
02 =29l 3,000 0 3,000
= 0l & 3,000 0 3,000
osdz 50,0003 «12& 600
O&IIL= 200,000& «12& 2,400
29 = - SAH-EHS 22 ABEN U XIAIE 1,088,000 0 1,088,000
=AY
= 680,000
Al 408,000
402 QIZ2EX=0l M 1,088,000 0 1,088,000
= 680,000
Al 408,000
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M XS ZH 2

HH: WX Zet &5 ¥ S50 - SAIY/NUXNL RSN

SHel UK A olTR nE CLEL
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
02 QIZT2ALEZ(0IETHSA) 1,088,000 0 1,088,000
= 680,000
Al 408,000
= Ol &F 1,088,000 0 1,088,000
= 680,000
Al 408,000
OB R SALLHE Y A0S0
KNAE 25 M 1,088,000, 0003 %14 1,088,000
= 680,000
Al 408,000
ATHEUHUEHX DnEs2dgazd 24,200 0 24,200
201 et 9,200 0 9,200
01 At 2teltl 6,200 0 6,200
= Off & 6,200 0 6,200
ONER B 2B HE
300& *5,00001 x23] 3,000
OZEH €4 S 428 79
800,000& 43| 3,200
02 Zzedy 3,000 0 3,000
= 0f &t 3,000 0 3,000
osdz 50,0003 «12& 600
OdIIe3 200,000& 123 2,400
405  RHaHH SHI 15,000 0 15,000
01 A& FESSFHSHI 15,000 0 15,000
= Off & 15,000 0 15,000
oz g IR 2L 15,000, 000& * 14 15,000
Z0ECO E M 23 9,000 0 9,000
201 et 9,000 0 9,000
01 At 2teltl 6,000 0 6,000
= Off & 6,000 0 6,000
OdJ|etd el tHel==+2  500,000& 128 6,000
02 =524l 3,000 0 3,000
= Off & 3,000 0 3,000
osdz 50,0003 «12& 600
ONIIe3 200,000& 123 2,400
HY2FZH (ZMEED)(IIEH/IIEL) 186,526 186,112 414
ol 2l 81,034 81,072 A 38
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P EES
o HISYAH (FIMISD)(IIEIIE)
el ol gyl (2@
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
oz 2| 81,034 81,072 A38
101 oIl 81,034 81,072 A38
01 =+ 77,861 77,990 A129
= 0] & 77,861 77,990 A129
OAZe 224
10,299 %212 *30AI 2t + 122 77,861
02 JIEHE B4 3,173 3,082 of
=0 4t 3,173 3,082 of
ONZY 2R4Z 88128 12«30l 2H+128 3,173
=3l 105,492 105,040 452
IR 105,492 105,040 452
201 Yur2 Yl 43,872 46,540 A2,668
01 At el 43,872 46,540 £2,668
=0 4 43,872 46,540 £2,668
OZHBZZ 2 ZS28H|
300,000% * 128 3,600
OZHIED 2% TS+
400,0008 * 122 4,800
OJl= MR EY| 400,000 128 4,800
O=AET 2Y 22,0002 * 138t A 128 3,432
OFX=AD L ZRE 22K
500, 0002 * 104 *63] 3,000
OemEI £ 7Y
1,400, 00021 *1CH +33] 4,200
OYLBD @ MI K
20,0002 *20% +33] 1,200
OJlzge =X s =2 S|
8,00021+202 +72 +12% 13,440
O=ADI LXE(SH) 250,000 «10H123] 3,000
OBIIAHS(TH UE S) PSHl
20,0008 *10% * 122 2,400
202 Ot 52,800 50,400 2,400
01 2UHoidl 52,800 50,400 2,400
=0 4 52,800 50,400 2,400
OJl=gR +82 I8 2L EZOY
20,0002 x22% *10 * 128 52,800
203 YeR=AY 8,820 8,100 720
01 JlERYALEHY 3,900 3,900 0
= 0] & 3,900 3,900 0
OFMBAZL2Y 3,900,000%1 *1% 3,900
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M XS ZH 2

= HE2GFU(FMEIE)(IIEHIIE
Ehelr D123l crel /M9l
. - - aroy 41 & 0f 4 o
SA BB (AH) - HBAY - BA= by e s2
(2-o) (013 o)

04 EN2EAHARFEHI 4,920 4,200 720
= 0l & 4,920 4,200 720
OFA28E 222ZHl 410,000& «12& 4,920
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